
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1. Label the following trophic levels on the ecological pyramid below: secondary consumer, producer, primary 
consumer, tertiary (3rd) consumer 

 
2.  Shade in the trophic level where you would expect to observe the greatest 
      amount of a chemical pollutant, this is called bioaccumulation/biomagnification. 
 
3.   Use your notes to define “Biomagnification”. 
 
 
4.   Circle the trophic level where you would expect to observe the least  
      amount of a chemical pollutant. 
 
 
5.  Which group of organisms would have the greatest  
      biomass (living material)? 
 
6.  Which group of organisms would have the least biomass? 
 
 
 
 

Marine Plants 

Salmon (fish) 

Seal 

Arctic Wolf 

Trees 

Caterpillar 

Lizard 

Eagle 

 7.  Draw an arrow along the left side pyramid in 
the direction of energy flow. 
 
 
8.  How much energy is passed on to the next 
level consumer? 
 
 
9. The energy that does not transfer to the next 
trophic level is lost as ________________ to the 
atmosphere. 
 
10.  Fill in the missing middle numbers for 
biomass in KiloCalories. 

Energy Flow 
   Worksheet & Diagrams – Use your NOTES to complete this! 

 

Name: ___________________________ 

5261 KCal 

________ KCal 

_______ KCal 

5.261 KCal 
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